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If ROAST is coded as PQYURin a certain

language, then NOW will SLOPPY be

,
coded in that [anguage:

(A) MRNAQN
(B NRMNQA
(C) QNMRNA

(D) RANNMQ
In a certain code, BREAKTHROUGH is

written as FAOUHRBRGHKT. How is
DISTRIBUTION written in that code?

(A) TISTBUONDIRI

(B) STTIBUONRIDI

(C) STTIBUDIONRI

(D) RISTTIBUDION

A Family has a man, his wife, their
four sons and their wives. The family
of every son also has 3 sons and one
daughter. Find out the total number of
male members in the whole family

(A) 4

(B) 8

(C) 12

(D) 17
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g,

U Fif¥ad @18 ¥ PQYUR @1 ROAST Ry
Wrar &1 39 BB H SLOPPY 2 Rt sy
Rl

(A) MRNAQN

(B) NRMNQA

(C) QNMRNA

(D) RANNMQ

ve Fif¥aa @18 H, BREAKTHROUGH @
EAOUHRBRGHKT forar e 21 sg iz &
DISTRIBUTION &% ferear e 22

(A) TISTBUONDIRI

(B) STTIBUONRIDI

(C) STTIBUDIONRI

(D) RISTTIBUDION

UP URAR H U e, I Ui, IS IR
3¢ 3R ! uferat &1 TAs ¢ B IRaR
4 3 a¢ 3k v & 0 ?1 R oRar F gy
el B Pt FEAT 1 diore|

(A) 4

(B) 8

() 12

Q) 17

P.T.O.



A is B's sister. C is B's mother Dis c's
father. E is D's mother. Thef NOW is
related to D?

(A) Grandmother

(B) Grandfather

(C) Daughter

(D) Grand daughter

A is the uncle of B, who is the daughter
of C and C is the daughter-in-law of P,
How is A related to P?

(A) Brother

(B) Son

(C) Son-in-Law

(D) Data inadequate

A, P, R, X, S and Z are sitting in a row.
S and Z are in the centre, and A and P
are at the ends. R is sitting on the |eft
of A. Then who is sitting on the right
of P?

(A) A

(B) S

(C) X

(D) Z

CC-5001\R\2024
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4. A B # @& &1 €, Baﬁﬁélthﬁfﬁm

¢ ¢ 0 & % A’Dm"%}w\
it &7
(A) ard
(B) are
(C) &
(D)t
meFaad, S CcHadtake pg

ag 2l A, P2 fou YR Wt &

(A) U 9T

(B) @er

&) e

(D) a1 i &

AP R X SR ZUts dhsidd &l sak
zqéwﬁ%,aihmﬁw@vwél RAD
% 3R do1 1 A P b 2 g B dor 2
(A) A

(B) S

(C) X

(D) Z

W



7. 1,6, 15, 7, 4566/ 91

(A) 25
(B) 26
(C) 27
(D) 28
8. 1,4,27, 16,7 36, 343
(A) 25
(B) 87
(C) 120
(D) 125
9. Find the term which does not fit into
the series:
1CV, 5FU, QIT, 15LS, 170R
(A) SFU
(B) 15LS
(C) 91T
(D) 170R
10. Select the letter that can replace the
question mark (?) in the following
series
0,8, L, C1,0D,FE,>?
(A) K
(B) C
(C) H
(D) N

CC-5001\R\2024
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1,6,15,?, 45, 66, 91

(A) 25

(B) 26

(C) 27

(D) 28

1, 4,27, 16, ?, 36, 343
(A) 25

(B) 87

(C) 120

(D) 125

98 U& Fd DT 3 Fen # fbe 78 dzar:
1CV, 5FU, 9IT, 15LS, 170R
(A) SFU

(B) 15LS

(C) oIT

(D) 170R

. 3 HER &1 90 W 3N FtRad g@en ®

e ferg (?) &1 RIM & et &
0,B,LC1D,FE?

(A) K

(B) C

(C) H

(D) N
P.T.0.



11. b _av_b_aab_b 11. b_av_b_aab_b

(A) abbb (A) abbb
(B) abba (B) abba
(C) baaa (C) baaa
(D) aabb (D) aabb
12. Vehicle is related to Caravan in the 12, 98 BRar A 3 sHR Fatta & 5 R
same way as player is refated tO ......7 Raery ... Y waftra &2
(A) Coach (A) Coach
(B) Captain (B) Captain
(C) Team (C) Team
(D) Field ‘ (D) Field
13. Mathematics : Logic :: Science :? 13. Mathematics : Logic :: Science :?
(A) Facts (A) Facts
(B)2 Scientist (B) Scientist
(C) Experiment (C) Experiment
(D) Explode (D) Explode

14. Drama is related to Director in the 14, TCo @ WY e ¥ R woR 2 5=

same way as Magazine is relateq to YHR ! BT T L J &
L ?
(A) Story
(A) Story
(B) Editor
(B) Editor
(C) Reader
(C) Reader
- Printer
(D) Printer ()

CC-5001\R\2024
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15

16.

17.

1f the foll Wmgﬁve words are arranged
e follo

in alphabeticdl ©"9€" whlgh Wore sl
|

come in the middle?

(A) Draw

(B) Read

(G) Play

(D) Back )

How many such pairs of letters are
there in the word CORPORATE each of
which has as many ietters in the same
sequence between them in the word
as in the English alphabet?

(A) None

(B) One

(C) Three

(D) More than three

The number of letters missed is not
uniform:

(A) BFINRY
(B) DGIMpS
(C)

MORTyy

(D) PRTVY7

CC-5001\R\2024

15, ofs prafefiEd U o @) avter w4

16.

§7.

Yaforg fooan 30, @ @ F B @ =
Jmom?

(A) . Draw »

(B) Read’

(C) Play~

(D) Back*

CORPORATE i@ ¥ 38R} & U9 fohet 513
# P & S & dra T # I BA H I
& e & 57 3ran qofaren H 2 27

(A) BT

(B) @

(C) aF

(D) a‘hﬁmﬁ%

B U JHER] B HE 0P FHH e &
(A) BFINRV

(B) DGIMPS

(C) MORTXY

(D) PRTVXZ

P.T.O.



18.

19.

20.

4

(A) 10
(B) 15
(C) 20
(D) 25
Study the following & find correct option

8 7 7
6 6 10

(A) 42
(B) 46
(C) 48
(D) 8

125| 64

(A) 4

(B)

(C)

305
343

(D) 729

CC-5001\R\2024
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a1 9 128 1
13 19 7 0 128\/32 18. 1\/19 \/ \/
0 ?
10

(A) 10
(B) 15
(C) 20
(D) 25

. Py a1 e B¢ T I

7 7

8

6 6 10
(A) 42
(B) 46
(C) 48

(D) 8

125| 64

(A) 4

(B) 305
(C) 343
(D) 729



Grease in the same
21, Wax is related "’
way as Milk s related RRTL
(A) Drink
(B) Ghee
(C) Curd
(D) Proteif
22. In Computers what does ALU stand -,
for?
(A) Advanced Logic Unit
(B) Accelerated Logic Unit
(C) Arithmetic Logic Unit

(D) Asymmetic Logic Unit

23. Which among the following has 23,

capability fo execute computer's
command?

(A) Processor Socket

(B) Main Memory

(C) Arithmetic Logic Unit

(D) Cache Memory

24. The ALU and control unit together are 24

usually referred to as
(A) Input unit
(B/ Pf’)(_egg()r

C) Store
(C) Storage unit

(D) ()Utpl,n U“n

CC-5001\R\2024 (9]

21, gy 5 iy 98 R T R & o R g

(D) S

. duged # ALU & a1 o €7

(A) Advanced Logic Unit

(B) Accelerated Logic Unit

(C) Arithmetic Logic Unit

(D) Asymmetic Logic Unit

SrefRad i & fow X & A B
Freqfed 3 @I &l &7

(A) Processor Socket

(B) Main Memory

(C) Arithmetic Logic Unit

(D) Cache Memory

ALU 3R Friaon 3o @ iR W T F
BT A &:

(A) Input unit

(B) Processor

(C) Storage unit

(D) OQutput unit
P.T.O.



25.

26.

27.

28.

The CPU an
Memory) are located on the:
(A) Expansion Board

(B) Motherboard

(C) Storage device

(D) Output device

Control Unit is called the ... of a
computer.

(A) Heart

(B) nerve center or brain

(C) kidney

(D) All options are correct

What does the term USB stand for?
(A) Unique Service Business

(B) Unique Service Bus

(C) Universal Serial Bus

(D) Universal Service Bus

which of the following basic operations
is/are performed by a computer?

(A) Arithmetic operation

(B) Logical operation

(C) Storage and retrieval

(D) All of these

CC-5001\R\2024
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26.

27.

28.

4 RaM (RaNdOM Access o mm@(@qmﬂﬁﬁrﬁ)ﬁma

(A) Expansion poard
(B) Motherboard
(C) Storage device

(D) Output device

Control Unit is called the . .

computer.
(A) Heart

(B) nerve center or brain

(C) kidney

(D) All options are correct

What does the term USB stand for?
(A) Unique Service Business

(B) Unique Service Bus

(C) Universal Serial Bus

(D) Universal Service Bus

Which of the following basic operatio”®
is/are performed by a computer’
(A) Arithmetic operation

(B) Logical operation

(C) Storage and retrieval

(D) All of these



v )
29. Botany : pjants ** Entomology :*

(A) Snakes
(B) Insects
(C) Birds

(D) Germs

30. Menu : Food: : Catalogue:?

30.

(A) Rack
(B) Newspaper
(C) Library

(D) Books

31. Anaemia : Blood : : Anarchy:? 31,

(A) Law lessness
(B) Government
(C) Monarchy
(D) Disorder
32. Inacertaincodelanguage, RUSTICATE 32
is written as QTTUIDBSD
How would STATISTICS be written in
that code?
(K) RSBUITUHB
(B) RSBUITUHB
(C) RSBUITSID

(D) TUBUITUMB

CC-5001\R\2024 [11]

(B) WHR
(C) RTaiemar
(D) faBR

. o if¥aa e wmr # RUSTICATE @1 QT-

TUIDBSD forar mar &1 39 @58 § STA-
TISTICS &% forar Fmemm?

(A) RSBUJTUHB

(B) RSBUITUHB

(C) RSBUITSID

(D) TUBUITUMB

P.T.0.



33. Five children are sittin

34.

CC-5001\1R\2024

g SIOWE

sitting next to P but not T. K s Sitting
next to R who is sitting on the extrep, .
left and T is not sitting next t0 K. wh,
are sitting adjacent to S7
(A) Kand P

(B) Rand P

(C) OnlyP

(D) Pand T

Some of the cricket players are tennis

\

players, some tennis players are

hockey players; no cricket player is a
hockey player. Which of the following
diagrams correctly respons the above

statements?

O
(B) @

o (0D

o ©f)

)

[12]

33.

34,

it a8 o s 3 8881 S/ P B 3 ¥y
& afpe T % 7@ K, R P T Hdor & 5
vad ad R dor & AT, K & amer # =
do1 &1 5 % amer # B 401 &2

(A) KandP

(8) Rand P

(C) OnlyP

(D) Pand T

36 fistee Raemé e Raesl €, pm 2
Raemér gfedt Raeét &: @ 4t fobape Raemsr
gt faemsr 7@ &) FaforRaa & & o &1
NG IRIG B! BT Fal IR aall &7

(A)



in all the georgetrical
L

35. Which number 35. saffda angferat # B & @ 2

figures? $
A , A
N, AN

6. ‘\. z_ 3
f [

A) 3 (A) 3

8) 4 (B) 4

(C) 5 (C) 5

(D) 8 (D) 8

36. Which one of the following diagrams ¢ Freferfiaa & & B a1 ferr oo, wmg otk 5

best depicts the relationship among

& d1g TEY P TG I <G e 22
Earth, Sea and Sun?

e >
o @ O

@ (@D

-©

(13] PTO.

(D) @

CC-5001\R\2024
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37,

38.|5

39.

CC-5001\R\2024

7.
What come in the placé of 7

12| 4 5

6 2
18’2 SDZ
3 9

(B) 16
(D) 18

(A) 15
(C) 17

65| 20| 45

(A) 1

(B) 2

(C) 3

(D) 4

Assertion (A) Indian President is the

head of the State.

Reason (R) Indian Parliament consists

of the President, Lok Sabha and Rajya

Sabha. Mark your answer as;

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true and (R)
is not the correct explanation of
(A)

(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

[14]

38.

39,

paﬂgﬂiaﬁrga:
3 : &
: s 5|18 2 5 2
2 - 9
(A) 15 (B) 16
) 17 (D) 18
54 9
6 13| ? |
7 12| 4
65| 20| 45
(A) 1 (B) 2
(C) 3 (D) 4

aTaT (0): WRA gt X5 W 2l

BRUT (3R): HRATA TG A G, adT

3R TsawaT e €1 3 FR B 39 TBR

fafga &

(A) (v) 3R (31R) A weg & 3K (3R), (©)
BT el TRy @

(B) (®) 3R (31R) 2t weg & et (37R),
(0) 1 e vt 4 21

(C) (@) ¥ & A6 (31R) 1779 &

(P) (U)W?aﬁ;q(m)ﬁg,



40. Assertion (A)

41.

A The British sovereignty

continued . " freedpicie

British sovereign
Reason (R) ghe

appointed the last Governor-General

of free India. Mark your answer as:

(A) Both (A) and (R) are true and (R)

i the correct explanation of (A)

(B) Both (A)and (R) are true but (R)

is not the correct explanation of
(A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Assertion (A) Mercury is the farthest
planet from the Sun.
Reason (R) Mercury is the smailest
planet in the entire solar system.
Mark your answer as:
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)
(B) Both (A) and (R) are true but (R)
is not the correct explanatioh of
(A)
(C)
(D)

(A)is true but (R) is false

(A) is false byt (R) is true

CC-5001\R\2024
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W () v e # Gfeer dmEr s

®

By (R): fafew @y ¥ w@ET wRa B

¥erm - srRer @ Frges fean| o e

B 247 yoR ffa &2

(A) (v) 3R (3R) At w1 @ 3l (3m), (2)
&1 TEY LB &

(B) (v) 3R (3IR) At T & dife (3,
(V) &1 TE WD T2 2

() (v) gea & afes (3MR) et &

(D) (v) TTera & e (3IR) ¥ 2

2T (0): g 9 & e R 31 T8 2

BRYT (3R): g9 | ARHSA BT Fa< BIel T8

2l

A IR B 39 WBR farfaer B

(A) (o) 3R (3MR) AF F@ & 3R (3R), (@
BT TEY TR &

(B) (v) 3R (31R) A w1 & Afeb (3R,
(T) BT e WLV Tl &

(C) (v) wear & Aftb+ (3IR) el &

(D) (0) et & QBT (3TR) W &

P.T.O.



42. Assertion (A) : Bangladesh ith0rts

jute from India.

Reason (R) Bangladesh has mogy of

the jute mills.
Mark your answer as:
(A) Both (A) and (R) are tru€ anq (g,

is the correct explanation of ()

(B) Both (A) and (R) are true but (g)

is not the correct explanation of

(A)
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false
43. A chocolate always has:

(A) Wrapper

(B) Cocoa

(C) Nuts

(D) Milk
44, A pen always has:

(A) Tube

(B) Holder

(C) Ink

(D) Nib
45. A newspaper always has:

(A) Advertisement

(B) News

(C) Editor

(D) Paper
CC-5001\R\2024
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43.

44,

45.



46.

47.

,aeroplanes are trains.

statements: Al
irs.

Some trains aré cha

Conclusions :

I. Some aeroplanes are chairs

I[I. Some chais aré aeroplanes
III. Some chaifs ar€ trains.

IV. Some trains aré aeroplanes.

According to above, Which is correct;
(A) None follows

(B) Only I and II follow

(C) Only II and III follow

(D) Only IIland IV follow

Statement : Some tables are TVs.
Some TVs are radios.

Conclusions : 1. Some tables are radios
II. Some radios are tables

III. All radios are TVs.

IV. All TVsare tables.

Which is correct;

(A) None follows

(B) All follow

(C) Only Iand 111 follow

(D) Only Il and 1v follow

CC-5001\R\2024

6. Wy, oy gard T et # o

Yoy Rt &

P 1, o s Ferar predr @

I, W@ﬁfﬁmmé

1, s Rl Xt

IV, g Yersd! & e €
Fufes & AR, 3 T &

(A) B ot SRR A Yl

(B) et 1 3R 11 IR & &

() ae 11 3R 111 3FIER0T1 &% &

(D) aet 111 3R 1V 3FER0 &Yt &

47, o 35 2aw O 81 gu O W €

[17]

it 1. B Sae el &

1. 3B e eaw .

111 g 3 & £

Iv. I & 2ed 2

B W &

(A) B ¥ SRR T B &
(B) 7 iRl Xt &

(C) daet 1 3R I IFTERVT B &
(D) et 11 3R IV SIFERVT B &

P.T.0.



eSS
55. In MS Word, if you P’

56.

57.

58.

59.

CC-5001\R\2024

the Tab e

r move
within a table, the cursC Yoy to

(A) next table

(B) previous row

(C) previous column
(D) next column

MS Word is basically used for:

(A) creating databases

(B) analyzing the data

(C) preparing the various doCuments
(D) preparing slides

Microsoft Word is an example of a/an:
(A)
(B)
(9)
(D)

MS Word is an example of:

application software
system software
database

operating system

(A) An operating system

(B) Processing device

(C) Application software

(D) System software

Which among the following method is
used to insert clipart in MS Word?

(A) Add Picture command

(B) Insert Object command

(C) Insert File command

(D) Insert Picture Commanq

55, o oH 0

56.

a7,

58.

59.

[20]

e &1
(A) next table
(B) previous O

n
(C) previous colum

(D) next column

MS Wordﬂmwzm%um

3T &2

(A) creating datab
(B) analyzing the data

(C) preparing the various documents

ases

(D) preparing slides

UEPN 38 3! U JATeR &

(A) application software

(B) system software

(C) database

(D) operating system

AP T8 THDT Ueb ITTE0T &
(A) An operating system

(B) Processing device

(C) Application Software

(D) System software

UHEH 95 ¥ oo sy 3 R e
A9 o5 R a1 v ey s 2
(A) Add Picture command

(B) Insert Object command

(C) Insert File command

(D) Insert Picture command



60.
which meny:
(A) Insert
(B) File
(C) Format
(D) Edit

61.

‘Font' dialogue box in MS-Word?
(A) Alt+F
(B) Ctri+D
(C) Alt+Ctrl+D

(D) Ctri+F

(@)
N

To open a file in MS-Word, we use:
(A) Ctrl+0

(B) Ctrl+N

(C) O

(D) N

£%. The shortcut key for 'Open an already

eristing document' in Windows is:
(/_./ Ctri+%
(b) (,”; 1‘()

(C) Ctri+V

(D) Ctri+C
CC-5001\R\2024

To insert header and footer click on

What is the shortcut key to open the

61.

62.

60.

3R s e 9 2 forw foper 3 WX foerd
(A) Insert

(B) File

(C) Format

(D) Edit

MS-Word # ‘Font' gradiTT dlew @er El
Sitae Gl 1 £7

(A) Alt+F

(B) Ctrl+D

(C) Alt+Ctrl+D

(D) Ctri+F

MS-Word % <t wrset & @iem & forw &7
(A) Ctrl+0

(B) Ctrl+N

(C) O

(D) N

63. faEt ¥ Ted I wWoE sfmpk @ @

[21]

(A) Ctrl+S
(B) Ctrl+0
(C) Ctri+v

(D) Ctrl+C

P.T.0.



64.

65.

(@)
(o))

What does HTTPS gtand for:

(A)

(B)

(C)

(D)

0
Secure

Text Transfer

Hyper Protoco|
Secure
Hyper Transfer Tariff pFOtocol
System
Hyper Transport Tariff Protgcq

System

What menu is selected to print?

(A)
(B)

(©)

File
Tools

Special

(D) Edit

If you are using Ctrl+A keys in MS

Word, what are you trying to do?

(A)

(B)

Select all text in the file
Paste text

Copy all text in the file

Close the window

In Microsoft Word, the 'hyphenation'

option is available under

(D)

------

Margins (Under Page LBYOUt)

Page Layout

CC-5001\R\2024
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64.

65.

66.

67.

g?
HTTPS a1 ST B

(A)

(B)

(C)

(D)

(A)

Hyper Text Transport Protoco)

Secure

Hyper Text Transfer protoey,

Secure
Hyper Transfer Tariff  Protoce
System

Hyper Transport Tariff Protocol

System

fie @ 3 fore 1 1 4 T T &2

B

File

(B) Tools

(©)
(D)

(A)
(B)
(®)
(D)

Special

Edit

gfe 317 e @€ H Ctrl+A $ait &1 39am

TR IR &, Y 31T FT B BT T B I &2

Select all text in the file

Paste text

Copy all text in the file

Close the window

(A) View

(B)
(C)
(D)

Insert

Margins (Under Page Layout)
Page Layout



68.

69.

70.

71.

called:
Microsoft excel 1% pee

(A) Document
(B) Table
(C) Spreadshee!
(D) Label

The advantages 0f using @ spreadsheet

is:

can be  done

(A) Calculation
automatically

(B) Changing data —automatically
updateg calculations

(C) more flexibility

(D) all of these

Which of the following is an example of

a spreadsheet?

(A) Microsoft Excel

(B) Microsoft Outlook

(C) Microsoft Power Point

(D) Microsoft Words

What is the address of the second cell

in an MS-Excel Worksheet considering
cell numbering in a row-wise order?
(A) Al

(B) B1

(C) A2

(D) 1B

CC-5001\R\2024
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%‘?ﬁwmﬁaﬁmméz

Y Document

(8)
(

Table

O Spreadsheet

(D) Label

Uity a7 3qaivT Y 1 oy &

(A) o warfera w7 & @ 511 T 2

(B) 21 ager & waarfora &4 J MU HUSE
& St 2

(C) aftr eretema-

(D) ¥ &

Frfofaa & & @9 &1 Sic &1 34T
&

(A) Microsoft Excel

(B) Microsoft Outlook

(C) Microsoft Power Point

(D) Microsoft Words

{ft5-aR BW # I FRT R FEAR RS g
OR-U9 Ul It § ER el 31 Gal 3T 87

(A) Al

P.T.O.
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73,

74.

75.

CC-5001\R\2024

Which feature of Microsoft Exce| is

used to automate the data Cntereq in
a dellned sequence’

(A) Style

(B) Autofill

(C) Intending

(D) Alignment

An MS-Excel file can be called a:

(A) Cellbook

(B) Gridsheet

(C) Worksheet

(D) Workbook

An Excel workbook is a collection of:
(A) worksheets

(B) charts

(C) Workbooks

(D) worksheet and charts

When you open a spreadsheet in MS-
Excel, ... displays the name of the
Excel worksheet

(A) Title Bar

(B) Formula Bar

(C) Cell

(D) Menu Bar

[24]
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73,

74.

75.

38 PR A [0 T 3 g
3 25 foe o AT €7

(A) Style

(B) Autofill

(C) Intending

(D) Alignment

o MS-Excel Brgdl @1 Bl 3 e &
(A) Cellbook

(B) Gridsheet

(C) Worksheet

(D) Workbook

TR TGP D U HIE &

(A) worksheets

(B) charts

(C) Workbooks

(D) worksheet and charts
39 314 UHEE-UaReT i v Vedie @ ¢,

dl e adbelie @7 T geffa B &

(A) Title Bar

(B) Formula Bar

(C) Cell

(D) Meny Bar



76.

77.

78.

79,

CC-5001\R\2024

What is the ghortcut key to enable

filtering of selected cells in MS-Excel?

(A) Ctrl+Shift+l

(B) Ctri+F

(C) Alt+Click+L

(D) Shift+F

The column of a Microsoft access table
is known as a/an:

(A) Inverted row

(B) vertical cell

(C) record

(D) field

Which of the following is a spreadsheet
application program?

(A) MS Word

(B) MS Excel

(C) MS Access

(D) MS Powerpoint

An Excel spreadsheet helps in:

(A) Sorting data

(B) Arranging data easily

(C) Calculating numerical data

(D) All of the above

~ 'ylsx' is an extension for:

(A) Access

(B) Excel
(C) Word

(D) Powerpoint

76. MSupy . e 3 B BB & 7

77.

78.

79,

80.
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(A) Ctri4+shift+L

(B) Ctri+F

(C) Alt+Click+L

(D) shift+F

MepRitee, g a0 ¥ @fem @ a/an
0 3} o7 oAl &

(A) Inverted row

(B) vertical cell

(C) record

(D) field

R @ B 1 06 BIsHe Terda
A 82

(A) MS Word

(B) MS Excel

(C) MS Access

(D) MS Powerpoint

T Ui Bigdic S Hag dRal o
(A) Sorting data

(B) Arranging data easily

(C) Calculating numerical data
(D) All of the above

"xlsx" 9 fo1U v vaee &
(A) Access

(B) Excel

(C) Word

(D) Powerpoint

P.T.O.



81. In a spreadsheet identify the Wrong g,
option for a legend in the Chary, |
(A) Left
(B) Top
(C) Down
(D) Right

82. MS-Excel on which part of the screen
are the sheet names displaced?
(A) Top right
(B) Top left
(C) Bottom left

(D) Bottom right

83. In Excel, where is the Cancel button 83
located?
(A) Tool Bar
(B) Menu Bar
(C) Title Bar

(D) Formula Bar

84. In Microsoft Excel, a workbook is a 84.

collection of:
(A) Charts
(B) photos
(C) worksheets

(D) wordhbooks

CC-5001\R\2024 [26])

82.

Hede #, @ A #67% 0 7ot e o
qga B

(A) Left

(B) Top ’

(C) Down

(D) Right

MS-Excel TP & 109 T R Hie & =5
feenfira g1 &7

(A) Top right

(B) Top left

(C) Bottom left

(D) Bottom right

. oo # et ac el fa gar 22

(A) Tool Bar

(B) Menu Bar

(C) Title Bar

(D) Formula Bar

BN T ¥ o FrAgfas 31 D
e &

(A) Charts

(B) photos

(C) worksheets ¢

(D) wordbooks



85.

87.

In MS Excel, which function calculates
the largest vaye in @ set of numbers?
(A) LARGE ()

(B) MIN ()

(C) COUNT '()

(D) MAX ()

is an intersection of a row
and a column ina worksheet.

(A) row

(B) cell

(C) column

(D) workbook

What is the intersection of a row and a
column in MS Excel called?

(A) afiled
(B)
(®)

(D)

data
an equation

a cell

. By default, how is text horizontally

aligned inside a cell in Excel?
(p) Left aligned
(B) Center aligned
(C) Right aligned

(D) None of these

CC-5001\R\2024

85.

86.

87.
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U ey 3, i 1 DA W &S e
%W g a7y 1 OV AT B

(A) LARGE ()

(B) MmN ()

(C) CounT () .

(D) MAX ()

row
cell
(C) column
(D)
TAed URid § UF URh 3R 0F P b
yiiese B FaT HET AT &2

(A) a filed

workbook

(B) data
(C) an equation

(D) acell

88. FEWIET W ¥, vadiet ¥ AT ¥ 3k 2 B

st 39 X R R v s 2
(A) Left aligned

(B) Center aligned
(C) Right aligned

(D) None of these

P.T.0.



89. The entire worksheet iN Excg can pe

90.

9

W

CC-5001\R\2024

1.

N

selected by:

(A) Ctrl+Spacebar

(B) Ctrl+Shift+Spacebar

(C) Shift+Spacebar

(D) All of these

In MS-Excel F11 is the shorteut key for-
(A) opening a document

(B)
(®)
(D)

inserting hyperlink

help

creating a chart from the selected
cell range

Which area in a Excel window allows

entering of values and formulas?

(A) Title bar

(B) Menu bar

(C) Formula bar
(D) Standard toolbar

Which of the following jg not a correct

match?

(A) MS-Waord .Dic
(B) MS-Excel XS
(C) MS-pPaint PG

(D) MS-Power Point PTp

[28]

89, mﬁﬁwmmmmm

90.

91.

Rt 511 G 27

(A) Ctrl+Spaceba”

(B) Ctrl+Shift+5pacebar

(C) Shift+Spacebar

(D) All of these

Ms-Excel § F11 590! vt ah 2>

(A) opening a document

(B) inserting hyperlink

(C) help

(D) creating a chart from the selected
cell range

Tl fiet & B @ & et 3k @it @

&t B B gl & 2o

(A) Title bar

(B) Menu bar

(C) Formula bar

(D) Standarg toolbar

92. ﬁw%%aﬁﬁﬁqmﬁﬁaqﬁé?

(A) MS-worqg .Dic
(B) MS-Excej XLS
(C) MS-Paint JPG
(D) MS-Power point ~ .PTP



03. which of the follo

94.

95.

wing function is

invalid in Ms-Exce!?
(A) SUMIF()

(B) SUBTOTA()
(C) SUM()

(D) ADD()

" In excel, function "MOD" is used for

(A) Returningremainder from division

(B) Modulus value of Integer

(© F.leturning quotient of division

(D) Converting integer to Modulus
value

........ was the network that became

the basis of the internet.

(A) Arpanet

(B) Cluster

(C) HTTP

(D) SSID

. Which of the following is used to open

a new tab on a browser?
(A) Ctri+T
() Ctri+A
(C) Ctri+W

(D) Ctrl+y

€C-5001\R\2024

93, MSpy g f PraferitEe R P 41 o

94.

95.

96,

(29]

T 7

(A) sumIF()
(B) sygToTA()
(©) sum()

(D) ADD()

& for R e &

(A) Returning remainder from division

Modulus value of Integer
Returning quotient of division
Converting integer to Modulus
value

32 Yead o1 3 $e<ic BT R &1

(A) Arpanet

Cluster

(B)
(C) HTTP
(D) SSID

IR W 4T 8 @iem & fore Frafafaa &
3 fEwaT 3wam o smar &2

(A) Ctri+T

(B) Ctrl+A

(C) Ctri+w

(D) Ctri+y

P.T.O.



97. Which s not:a Wb DICMSETftom the g, o fufag f 2 e 1 30 T 7 2

following?
s (A) Open

(A) Open |

(B) Mozilla Firefox (B) Mozilla Firefox

(C) Safari (C) Safari
(D) Google (D) Google

98. A web-based software system for g mqﬁi%fﬁ!a@‘a@géﬁﬁm

obtaining relevant information from

) o B % fow ve da amenRa 4.

the world wide web for user queries is

TR SO @ ... P 4 A ST S &

known as

(A) Search Engine
(A) Search Engine

(B) Plug-in (B) Plug-in
(C) Addware (C) Addware
(D) Web Browser (D) Web Browser
99. Which of the following is NOT an 99, ﬁqﬁmﬁ@mwmﬁmm
application of Information Technology Waﬁm T8 %
in railways?

(A) E-ticketing
(A) E-ticketing

(B) SMS Gateway
(B) SMS Gateway

(C) Bullet Trains (C) Bullet Trains

(D) National Train Enquiry System (D) National Train Enquiry System
100. E-mail service stands for: 100-?-“%&1%@;

(A) Easy mail (A) Easy mail

(B) Electronic mail (B) Electronic mail

(C) Electromagnetic (C) Electromagnetic

(D) Electric mail (D) Electric mail

CC-5001\R\2024 [30]
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